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if the (free) variables of e have types given by the 

type environment gamma, then e (correctly) 

type checks and has type T

If e1 type checks in gamma and has type T1 and ...

and en type checks in gamma and has type Tn

then e type checks in gamma and has type T

type rule
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Type Rules

for every type T, if

then
b has type Boolean, and ...
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Type Rules
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We can type check each function m,n,p in this global environment
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Type Rule for Method Definitions

Type Rule for Assignments

Type Rules for Block: { var x1:T1 ... var xn:Tn; s1; ... sm; e }
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just
expression

empty

declaration is first

statement is first
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object World {
var z : Boolean
var u : Int
def f(y : Boolean) : Int {
z = y
if (u > 0) {

u = u – 1
var z : Int
z = f(!y) + 3
z+z

} else { 0 }

}

}

�0 = {
(z, Boolean),
(u, Int),
(f, Boolean � Int) }

�1 = �0 � {(y, Boolean)}

Γ1 ⊢ z: Boolean Γ1 ⊢ y: Boolean

Γ1 ⊢ (z=y): void

Exercise:
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